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Quant Mega Quiz for SSC Tier-1 (Solutions)

$1. Ans.(b)

Sol.

Divisible by 72 means divisible by 8 and 9.
last 3 digit must be divisible by 8
3ly + B8 we get

y=2

sum of digits must be multiple of 9.
so, 7+8+9+x+5+3+1+2
=86+x

so,x=1

now, 5x-3y=5-6=-1

S2. Ans.(c)
Sol.
70%

Expenditure 5 60 3.5

Income 6-7 3.6

Saving ——1 0.1

i
+0.1
Increase in savings = % X 100%
= 10%

S3. Ans.(a)
Sol.
Speed of Abe x
Speed of BEbey
ATQ,
E_ 15 = 30 Complete Preparation for
x ¥ Jg_ﬂ SSC Exams
or,y -x= - .[i]
Also,
15 15
- = 1
v 2x
= 2oy =5 -0 EXTREME
adding (i) & (ii)

_ Sxy
7 30 Video Courses, Test Series,
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$4. Ans.(b)

Sol.
5+50f5x2+2+20f2x5-(5-2)+6=x2
following BODMAS

2 5 19
57271710
$5. Ans.(d)
Sol.
209 = =
5

i.e. If 8.P.=5 Units
C.P. = 6 Units

C.P. =800 X g =960
Next SP = 960 X E = 1200

$6. Ans.(a)
Sol.

New Ratio

=21:44:69

$7. Ans.(c)
Sol.

mr* =616
r=14
d=28m

$8. Ans.(c)
Sol.

A:B:C=2:3:4
2units — Rs 400 crore
3 units —>§ % 400 = Rs 600 crore,

S9. Ans.(d)
Sol. HCF (1.26,1.98,1.62) =0.18m = 18 cm

$10. Ans.(b)

Sol.
13500x12.5%2
Sl=—""77—77—
100

51.=3375
Amount= 13500 + 3375 = 16875
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S$11. Ans.(a)
Sol.
Total work=(7+5+ 4] X 35
= 560 units
Word done by A and B in 28 days = (7 + 5) % 28 = 336 units.

Remaining work = 224 units

Time takenby C = zi—4 = 56 days.

$12. Ans.(a)
Sol.
Divisibility by 8
Last 3 digits must be divisible by 8.
ie. 91y is divisible by 8soy = 2
Divisibility by 11, difference of the sum of alternate digits mustbe 0 or 11
So, x =4
Now, (5x—8y)=20—-16=4

$13. Ans.(d)

Sol.
A_5 iy
B 4 A+E 20

Let A+ E =180

A=100,B =80,C =63
Required 9 = % X 100%
=574

$14. Ans.(b)

Sol.

Letno.bea bandc
ie. T24c=168
ora+ b+ 2c= 336..[i)
similarly,

b+ c+ 2a = 348...(ii)
also, c¢+a+2b=360../(iii)
Adding
(i), (ii) and (iii} Bili I

=4(a+b+c)=1044 UL

=a+b+c=261
at+b+c _ 261

3 3

TEST SERIES

=87

= Average =

$15. Ans.(d)
Sol.

a®+p!

at+hi_aoh - {ﬂ' + b]
100 (675+325) = 100000 59 Total Tests | eBooks
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$16. Ans.(a)
Sol.

LCM of (15, 18, 24) =360

ATQ

360k+8 =368
13

Putk=1,23,.......

K= 2 is divisible by 13
Number=360x2+8=728
Sumof digits =7 +2+8=17

$17. Ans.(a)
Sol.
Sum of No.
= (4+5) = 16
=144
$18. Ans.(b)
Sol.
Speed 60 80
time 4 : 3
~—
15-7=8 1=

Right Time=24-7
=17 min.

$19. Ans.(d)
Sol.

Ar. of Rhombus =% ® dyds
==X 8X6 =24cm’

$20. Ans.(d)
Sol.
A B C
5500 65000 . 75000
11 : 13 : 15
Total profit = 39 = 87750
A's share = (E??Eﬂ X _S—ﬂ * 11) + 87750 X —
a9 100 100

= 19800 + 17550 = 37350
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$21. Ans.(b)
Sol.

Let AB & CD are pillars. .

A 0°
45°

20m 20m

B
Let DE=h

From AADE
tan 30° = B
AE
From AACE,
tan 45° = ﬁ = AE =20 oo (ii)
from (i) & [ii],

hy3 = 20

20
h = = metre
V3

= AE = h\3 e (i)

Required height= 20 4 % =2 (\.E + 1) m

$22. Ans.(c)
Sol.
A+B+C=m

A+B _m €

2 2 2
. A+E
= sin (222)
2
. (11 C) C
=s51m|—-———-) = cCcos—
2 2 2

Similarly,

$23. Ans.(b)
Sol.

m? — n®
= (tan® + sin8)® — (tan® — sinB)*
= 4 tan® sinf

[+ (a+b)? = (a—b)* = 4ab] MAHA PACK

and 4ymn = 4,/ (tan® + sind)(tan® — sind)

fziMonths Subscription

Live Class, Video Course,
Test Series, eBooks

sin® B
= 4+/tan?B — sin?B = LIJ —sin? @

cos? @

Bilingual (with eBooks)

5 I www.bankersadda.com | www.sscadda.com|www.careerpower.in | www.adda247.com


https://www.adda247.com/product-onlineliveclasses/3916/ssc-maha-pack-1-year-validity

sin® B — sin® B cos? B

e
J

sin® B (1 — cos? B)

cos? @
sin® smz 3]
cos? CDSEI
sinf .
= 4 5inf = 4 ginf tanB
cus

. m® —n? = 4m

S24. Ans.(a)

Sol.

secx + cosx = 3

On squaring both sides

sec” x + cos® x + 2.secx cosx = 9
=sec’xtcostx=9-2=7

[+ secx. cosx = 1]

Now, tan® x — sin® x = sec’x — 1 — (1 — cos® x)
[+ sec® x —tan® x = 1]

=sec’x4cosix—2=7—-2=5

$25. Ans.(c)

Sol.

(a* — b*)sin @ + 2ab cos8 = a® + b*

Dividing by cos 8,

(a* — b*)tanB + 2ab = (a® + b*)sech

On Squaring,

(a* —b*)? tan®B + 4a’b® + 4ab (a® — b*)tanB = (a® + b*)*sec’ B

= (a’ — b*) tan® B + 4a’b® + 4ab (a* — b*)tanf = (a® + b?)(1 + tan® 8)
= (a* +b*)*tan’ 8 — (a®* —b*)* tan® 8 + [(a* + b*)® — 4a’b®] — 4ab(a® — b*)tanB = 0
= 4a’°b%tan® B + (a® —b?)? — 4ab(a®* —b*)tanB =0

= ((a* —b?) — 2ab tszll)2 =

= (a®* —b?)— 2abtan® =0

= 2ab tanf = a® — b®

a® — b?
= tanb =
2ab
$26. Ans.(a)
Sol.
We have, SP=Rs. 1144
CP=222 % 100 = Rs. 1300
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$27. Ans.(d)
Sol.

LET CP=100
MP =300

75
SP=300xX—=225
100

If225 — 540

100 — % % 100=Rs. 240

$28. Ans.(c)
Sol.

I I
750 1250
k5 b3
15 . 15
1 01
8 20
_1X155 71 %150
ddn = 5

_8
D9%%g= 200 »* 100
Do = 1494

x 100

$29. Ans.(d)
Sol.

Let CP =100
MP =150

SP =150 X — = 112.5
100
Profit percentage = 12.5%

$30. Ans.(a)
Sol.

SP after 15% discount = 800 x % = 680

Required discount = ﬁ ¥ 100 = % = 15% 12 Months Subscription

Useful for CGL, CHSL & others

TEST PACK
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